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0000000000000 00000000000Mann-WhitneyD UOOOOOO0O0O0O0O0OO0OO0OO0OOOOOOO
KendallO SOOO0O00D0O0O0O00O00O00ORemdr 0000000000000 0OO0O0OODOOOOOOO
oo

gbboboboooooooooooooooooooooooooooooooooOoooOOOOO0O0000aO0
O0Wilcoxon 0O 0O0OOOO0OOOOOOOOOO

*15 R O000barplot() 0000000000000 0Darrows() 0000000000000
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.00 X00000 #1,22,..,2, 00000 YOOOOO y1,y2,...,4, 0000

2.0000000000000000000000000000*%0000 0xs(1],v2(2],%17(3],..,2z4[N]O0OD
000000 N =m+nD

3. 00000000000000000000000000000000000000000000000000
000 (N+1)N/200000000000000000000000000000000000000 X0
0000000000

4. X00D00 z0i=1,2,...,m00000 R,O0DDO0XO000000

szzﬁiRi
i=1

O000RxO0OO0DOOOODOOOOOOOOOODOOOXOOOOYOOOOODOOOOOOOO0O0 HO
o0o000oO0o000o0O000000000000000000000Rx 000000000 O0B0O0OO0O0
DD*I?

5,00 XO0YOOOOOoOoODOoXO NOOOOOOOOODOOOOOmOOOOODDOOOOOOOYOOOO
00o00oo0ooo0o0oooooooooooo0ooDog,2,s,.,.NOODODOOmOOODODOOOOOOOO
00000000000000000000000 NG, 000080

6. X>YUOOUOOoOoONC,00OO0OODO0OO0ODO0OO RxOODOUOOUOOOOOO0OU0OO kO0O0O0DX<YO
000000000 RxOOOOOOoUOoUooOooooo koOoOom

7. k/vC, 00000 «000O0O000OD0 HOOODODONDOOOODODOOODOODOOOOOONDODOOODOO
00000000000 *00000000000000000000000000000000000000
gobooooooooooooooobobooobboobbooobobobOoOoboOobooom

8. 0000 HyOOOOoOoOooooOo

EUDzﬁiﬂRﬂ:mu+2+m+NWN:nWV+Uﬂ

i=1
0100 NOOOOODOO 1/NOODODODOmMOD000000000
var(R) = E(R?) — (E(R)?)

oo

m m

E(R?) = BE(Y_R)*) =Y E(R})+2> E(RiR))

i=1 i=1 i<j

0oooo*og
E(R?)= (124224 ...+ N?)/N = (N +1)(2N +1)/6

*60gooo0000oo000onoo

*T0po0000000000 RODOODO000000000000 Wilcoxon0OOOOOOOOORy,Ry 000000Ux =
mn+n(n+1)/2—-RyOUy = mn+m(m+1)/2—-—Rx 0000Ux 0 Uy 0000000 UDODOOO0DO0O0O0OOO0DOO
0 0Mann-Whitney 0 UODOO0O00000Ux —Uy 00000000000 KendallD SO00000000000000000O
00000000000000000000000000000000000000000000000000000000000000
OOO00OROOO0OWileoxon 0000000000000 0O00O0O0O0O00OCO000000000000000 RSO0OCOOOOOOOO
2*%(1-pwilcox(RS,m,n)) 00 000000000000 OOOOO

*18 R OO choose(N,m) 000000000

V0000000000000 0000000000000 ROOODOOwilcox.test(X,Y,exact=T) 00000000000000 500
000000000000000000000000000000000000 150000000000000000000000000
0000000000000000000000000000000000000000000C0C0000000000000000000
0ooooooo

*200Q00o00000000000000000000m=2000000000000000

2 2
BE((Y_ Ri)?) = B((Ry + R2)?) = B(R} + R} + 2R1R2) = > E(R}) +2 ) E(R;R;)

i=1 i=1 i<j

oooo
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N N
E(R;R;) = Z =Yk}

k=1 k=1

B 1 N2(N+1)2 N(N+1)(2N +1)
_NWAU( 4 B 6 )
_ (N+1)(3N +2)

B 12

0000000000000 dwar(Rx)=m(N+1)(N—m)/12=mn(N +1)/120000

9. 000" 0000002002 = {|Rx — E(Rx)| —1/2}/y/var(Rx) 00000mO n00000000O
0000000000000000000 2 >1.900000000000005%0000000R0O00O
000000000z 0 z0000002%(1-pnorm(20,0,1)) 0000000

10.000000000000000000D0 200000000000000000000000000
00000000 X O {2,6,3,5}000 YO {4,73,1}00000000000X00Y 003000
00000000000000000000000000000000000000000000000
oooooD Y X X Y Y X X Y
O 12 3 3 4 5 6 7
oo 1 2 35 35 5 6 7 8

11. 0000000000000000000000000000*000000000FE(Rx)=m(N+1)/20
0000 8DO0DODODODOO

T
var(Rx) =mn(N +1)/12 — mn/{12N(N — 1)} - Z (d? — dy)

0oooooo T0o0o00O00OO0OO0o0O0oOoo0oDoO0o0O0d, 0¢t0000000000000O000O00O0O0O0
gopoDoooooooooooooT=10d,=200000000000000000000000000OO
ggoobooboooobooodbbuooobbooobooobobUooobbo0b bbb bbb OoUoo
Cochran-Armitage 0000000000

36 20000000000

Oo0oooooomooooo neOooooooooooooobobobooooo w00 oO000000OOOO
gdoodoobooooooooboooboooooo
000000 piLp 000000000 i =1 /n,pe =7/ns 0000000000000000000000
(pr—p2)000000000E(p —p2) =p1 —p2, V(P1 —pP2) =p1(1 —p1)/n1 +pa(l —p2)/n 00000000
00000000000p =p,=p0000000000V (5, —p2)=p(l—p)(1/n1+1/ny) 000000 pODO
000000p=(r +72)/(n +n2) 0000§=1-p00000mp O nap, 0000 500000000000
gooooooood
_h—p—E@p —pa) _ P1 — P2 N
V(p1 — p2) PG(1/n1 +1/n2)

N(0,1)

oooo*oooooo

2l 0ooo00000000000000000000000000000000

*22000000000000000000000000 1/2000000000

*23000000000000000000000000000000000000R0O0O0O0O0000000000

2400 ZOOODOOOOOOOOOOOO0OO000000000000000000000000000000000000000000
p1>p2 0000000 Z>000000p1 <p000 (000 Z<00000000000000000000000D000DOOO
0000 zZz>00000000000000 20000000

[p1 —p2| = (1/n1 +1/n2)/2
PG(1/n1 +1/n2)
000000 ZOOOOOOOO0OOO 97.5% 00R 000 qnorm(0.975,0,1)0 00000000000 5% 00000000000

7 =
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00000o0000o00000000o 1000000 1000000000000 400020000000000
000 20000000000000000000000

p <- (40+20)/(100+100)

q <= 1-p

7 <- (abs(40/100-20/100)-(1/100+1/100)/2) /sqrt (p*q* (1/100+1/100))
2% (1-pnorm(Z))

000000000 0.00340000000000 5% 00000000000000000OO0OO 2000000
ooooooooooooo

00 9%%00000000000000000000000000000DO0O00O00OO0DDOOOODOOO
oooooollee00000C0COO0OODOOOO0OOOOOOOOOUOOOOOOO

dif <- 40/100-20/100

vardif <- 40/100%(1-40/100)/100+20/100%(1-20/100)/100

difL <- dif - qnorm(0.975)*sqrt(vardif)

difU <- dif + gnorm(0.975)*sqrt(vardif)
cat("0000DO0O00DOO=",dif," 95%0000= [",difL,",",difU,"]\n")

000[0.076,0.324) 00 0000000000000000D0000000D000000 (1/ny 4 1/n2)/2 =
(1/100+1/100)/2 =0.01 000000000000000095% 00000 [0.066,0.334] 0000
ROODDOO0OOO0DO0O0O0O0D000O0DOOOO prop.test() 0000000000000000000000O0
ooooon

smoker <- c(40,20)
pop <- c(100,100)
prop.test(smoker,pop)

000000000000000000000*000 9%%0000000000000000Remdr00MMO
goboooboooooo
(-3DDDDDDDDDDDD ~N

prop.testO 000030000000 MDO0O0O0O0OO0OO0OO0OOOOODOOOOOODODOOOOOOO
gobobooooboooooooooooooooooooooooooobooooboboooobobooooobooooboOoo
goboooooooooooooboooboooooboobooooobooooboooooooboooobooooboOoooboOoo
0000000000ROO0ODO pairwise.prop.test() 0000000000000 0D00OO0OOOOOOO
gobodooboobooooooooboboooboooooooooooooooOoOoOobOoOoOoOoboOoOoOobooOoOonoan
1000000 8000000 30000000000000000000000B0OO0O0 6000300080000
gooooooooooooooooOoOCOCOOOOoOooo04000o0 200000 100000000000
00o00oo0o0ooOoOo00ooOo0o0oOo0o0ooO0o0ooOO0o0oDooOOo0o0ooOo0oROODOOOOOOOO
O0000ORemdr000O000O0OCOCOOO

total <- ¢(100,80,30)

epos <- c(60,30,8)

orisk <- c(4,2,1)

prop.trend.test (epos,total,orisk)

J

*25000000000000000000000000000000000000000000000000000000000 200000
jo0ooo0oobo0o0ooooooooo
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4 JO00d0d0dOoogo

3000000000000000200000000000000000000000000RO000 20000
0000000 ,,C, 0000001000000 1000000000000000000000000000000
0000 5% 0000000000300000000000000000 1000000000000000000
00000 100000 5% 00000000000000000000

000000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000000
(Kruskal-Wallis) 00000000 00O0*260

000000000000 5%02000000000000000000000010000000000000
00000000000 1000000000000000000000000000005% 0000000000
0000000000000000000

41 0O0OO0OODOOO

0000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
000000000000000

0000000000000 X,Y,Z00000000000000000000000000000000000
000000000000000000000%0

IDOO 00 (V6) OO0 (cm)(HEIGHT)

1 X 161.5
2 X 167.0
oooo
22 Z 166.0
oooo
37 Y 155.5

ooocooboO0oooooOooOooboOobOoOoOOoO0OOO0OOCOOUOOEEIGITOOOOOODOOOCOOOVGOO

0oo0oo0ooooO0oO0OoooooU0oooooOU00ooooo0DUoooooROODODODODOODODOOOOO
summary (aov(HEIGHT ~ VG)) DO0OUOO0ORemdr 000 0000DO0OOO Statistics 00 Means O One-Way
ANOVAOOOMOUOOOOOOOOoOoUoooooo

*26 00000000000 000000000000000000000000000000000000000000000000000
gooooooooooOoOoOoOoOoO0O0OO0o0bOobooOoOoOoOO00O0O0O0OO0O0O0oO0oOooOOoOO00000O000000O0bOOO0O00OO000O0O00
gooobo0Oo0oboOo0O0o00O0O00bOO0O0O0O000O0O0OO00O0OO00O0O0OO0O0OO0OOO0COOOOOCOOOOOOOCOOOOOOOO0O0
0000000000D0000000000 (2003)00000000000000000000000000000 5%0000 90%00
gooooooooOoO0o0oooooooooooo
e J0D0ODODODODOODOOOOOOOODOODOODOD M1, m2000000d1,d200000000000

(1.96 + 1.28)%(d1 + d2)
(ml —m2)2

e 0DO0O0OO0DOOOOOLOOOOOOOOOOODOOOODOOOODOOOO T rlIOx200000000000

(1.96 + 1.28)2(rl + r2)
(rl —r2)2

e I0DOIDODDOOODDOOOUDDODODODO plOp200000000OODOOOOO
{1.281/p1(1 — pl) + p2(1 — p2) + 1.961/(p1 + p2)(1 — (p1 + p2)/2)}?
(p1 — p2)?

*27 http://phi.med.gunma-u.ac. jp/grad/sample2.dat 0000000000 R OO read.delim() 00 0000000000000
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Df Sum Sq Mean Sq F value Pr(>F)
VG 2 422.72 211.36 5.7777 0.006918 **
Residuals 34 1243.80 36.58

Signif. codes: 0 ‘*x*x’> 0.001 ‘*x’ 0.01 ‘x> 0.05 “.” 0.1 ¢ ’ 1

0000000000000 00O0D00O00O00x0 000000000000 000O00O00DO0O0DOO0O0O0O0
O000Osum SqUOO00D0OCOOOO00O0DOOCOVGO sum Sq00 4227200000000000000000O0
goooooobooboobooooboobooboobooboobOobOboobDoobveUODOoOobDOODOO
O0000O0OResiduals O Sum Sq OO0 12438000 0000000000000 DOODOOO0OOOOOOOOO0O
gobooboobobooobooobooooboooooboooboboboboboboboboboboboobooboobooooon
0O00O0OMean Sq0 00000000000 DOOODOOCOD () 000000000 OOODOODOOOODOOO
VGO Mean Sq U0 21136 00000000000 CO0OO0OODOOO0ODOOResiduals 0 Mean SqO0 36.58 0
go00OO00b0o0b0o0b00Oof0F valueODOOOOOOOOODOODOODOODODOODOODDODODDOO
0000 10002002000 340 FOOODOOODODODODOODODOOODODODOOOODODDODOOOOOOOOOO
0000000000000 00000PrCCFH 000ODODDDOODOOOOO0OO0O0.0069180000VGOODONO
5% 0000000000000000000000000000000000000000O000O0O0

42 00DO00O0OO0O0OOO (Kruskal-Wallis) OO O

oobooooooooooooooooooooooooooooooooooooooooooOooOooO000000
0000000000000 000000000000000000000000*00000000000000
0000000000000 0000DD0OD0000DD000 (Kruskal-Wallis) 0000000000 O0OOOR
00000000 YODODODOOOO cOO0O0O0O0Okruskal.test(Y"C) DOOD0OO0OO0OOKruskal-WallisOOOO
goboooboooooboooo

10000000000 D00N0NDNNON0NDNDNON0NONDNON0NONDNN0NNDNDNONNDNNONNONONON0Noonoooonn
0oo000o0o00o0oog

¢« 100D 0O0UDNONOONDONOONDDNONONDDOONONDOOONDNONOONDNONO0NDDNON0NODDO0Oonoon
0000000000000000M

¢ 1000D00DODOOOODODODDO Ri(i=1,2,...k; k0000)0000D0

e 10J0IDD0ODDODOODDOOONDOO n 0000000000000 0O0 NODDOODOODODOOO
00 B, 0 B; =ni{R;/n; — (N+1)/2}?0000000

000 BOOOOH=12-B/{N(N+1)} 000 HOOOOODODOOOOODODOOOOOOOODOOOOO
0000000000000OU000O00000DO0DODO0OO00ODO00OOUO0O0OO0 A0DOO

000 HOOOOOO H'oOoooo

28 0000000000000000000000000000000 (Bartlett) 00000000000 000OROOOOOOOO YOOO
0000 cOO000OObartlett.test(Y'C)OODDDDDODO0000000DDO0ODDOOO0O0O0O0OODODOFligner-KilleenOOOOODOD
OO0000Ofligner.test(Y'C) 00000000000 D0O0O0DO0ODODO0OO0O0OD0OO0O0OOOOODOOOOODOOOOOODOODO
000000000000000000000000D000000D00000000D00D00000 (Shapiro-Wilk)DODOOOOOODODODO
0000000000000 0O0RODO shapiro.test(Y) DO00D0O00D00O0D00O0O000OO0O0ODOOODOOODOOODOOOOOOOOO
gooooooo0oOoO00oOoooboO0oO0O00000OoOoOOO00000OOOO00000000O0O0O0OO0O0000O0OOOO000O00008
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e HOOD HOUOODUOODODOOODODODODUOODOODODOODUOODOODOODOODOOOOOOOOOO
k>4000000000000000000040000000 k=3000000000000O00O0O0OO
0O0500000H0 H O0O0OO0k-100000000000000000000ODO

43 00O0O0ODOOODOO

0000000000000 000000000000000000000 Kruskal-WallisOODOOOO0O000O
00000000000000000000000000000000000000¢+00*000000*000
00000000000000000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000000000
000 5% 000000000000 10000000005%000000000000000000000000
0000000000002 0000000000000000000000000000000000D00000
0000000000000000000+00000000D0 100000000000000000000000
000000000000 LSDO0OODOOOOO Fishee 00000 LSDOOOOODDOOOOOODDOOOOO
000000 LSDOOO0O0O0OOOOOOOOOOODODOOD 100000000000000000000000
000 30000000000000000000000000000000000000000000000000
t00000D000LSDO0OOOOONODD accept 00000

00000000000000000000000000000000000000 (Bonferroni) 00000000
(Scheffé) 00D DOODOD (Duncan) 000000000 (Tukey) D HSDOOOOO (Dunnett) 00O0DOO0O0DDOO
O (Williams) 000 000000000000 0000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
00000000000000000000000000D0O000000 HSDOOOOO0000000000000
000000000000 000000000000000000000000000000*' 000000000
00000000000000000000000000000000000000000000000000000
000D000000O0oooooo

0000000000000 000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000000000
0000000000000000000000000 (Holm) 0OOOOOO0DO0000000000000000
0000000000000000000000000000000000000000 (Peritz) 000000000
0000000000000 000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000000000
0000000000000000000 HSDOOOODOOODOOODOODOODOODOO0O00D0000Do0o000o0o00o0o00
00000000000 00%0

0000000000000 000000000000040000000000000000000000000
0000w =pe=p3=ps 000000000000000000H1534 000000000000 100004
0000000 uy~ps0000000000000000000000000008H 234 : 41 = p2 = p3 = ps0
Hi1o3y i1 = po = psOHpio4y 1 1 = p2 = a0 Hpzgy 11 = p3 = a0 Hpazy 0 po = pz = a0
Haoyay i =pe 00 p3 = paU Hsy o4yt = p3 OO0 po = pa Higay 2,33 0 1 = pa OO p2 = psl]
Huoy i = pe0 Hypzy t pn = psO Hypay 2 pn = paD Hyozy 0 pio = p30 Hyo gy 2 po = pal Hiz gyt g = pa
01400000000000H;.34 000000000000000000000000000000000
0000000000000{Hq,2,Husy Hagy, Hipsy, Hppay, Hy} 00000000000000000

*29 R OO0 t.test(height [vg=="X"],height[vg=="Y"]) 00O

*30 RO 0 wilcox.test (height [vg=="X"],height [vg=="Y"1) 00O

*l 0000000000000 0000000000000000000000000000000000000000¢000000000
goooooooooooooooooooooobooooobooooooboooo

*200000000000000000000000000000 ROODODODOOO0O0OO0000000000000000000000000
opoooOoooood
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gooooooooobo 1pboooboobboboobobooooboo 10D bDooOobDoobobOoOoDOo
{Hu 9y, Hysy,Hpgy 000000000000 000000000000000000000000000000
ooo

0000000000000 000000000000000000000000000000000000 5%0
0000000000000 00000000000000000000000000000 5% 000000000
0000000000000 00DO00 5% 0000000000000000000000OO0ODOODOODOOO
000000000000 000000000000000000000000000 5% 000000000000
0o0000*80

R OO0 0pairwise.t.test(HEIGHT,VG,p.adjust.method="bonferroni") 000000000 OOOOOOO
000000000000000000000000+0000000000000*40

00 Opairwise.wilcox.test (HEIGHT,VG,p.adjust.method="bonferroni") D0 000000000000
gobooooooobooooooooboboooogoboboooooboOoboooDoboboobooooboOobo
U0Op.adjust.method 0 000000000000 COO0OO0O0O0O0COO0DOCOOUOp.adjust.method="holm"
oogooO0o0oOoROOOOCOODOOO0OUUOQOOODOOOOODOODOODODOOUOUOUOOOODODODOOUOOOOO
godooOoO0oU0UoooOoOoOoU0oUOoUOooOoDOoOoUUOUUOOOoCOODOROOOUOUODOOOODOOUOODOOO
0000000000000 000000000000000 accept 00000000 OODOODOODOODO
000000000 OTukeyHSD(aov(HEIGHT™VG)) D00 D OOODOOCOOD HSDOOOOOODOOOOOO
0 O O0CRAN (http://cran.r-project.org/) 00 multcomp 0000000000000 00000000
simtest (HEIGHT ~ VG, type="Dunnett") 00U U U simtest(HEIGHT ~ VG, type="Williams") 00 OO OO
goboboobooboooboooooboooooboobobobobobobOobOobOobOobDOobobooooooom

RemdrUODO0OO00MOIOOOOODOODOUOOOOOOOOOOUOOOODOODOOOOOUOPairwise comparisons
ofmeans 0000000000000 O0ODOO TukeyO HSDOOOOOODOOOOOOOOODO

5 00

e 00D000D0ODDO (1995 000000: SASOO0O0D0OOD. 0000000.
e« 0000 (0000000 [0](1983)0000000. 0000.

e« 0000 (2003)RODODOOOOOD. 000000000O0OOO.

e 000D (2003) 00000000D000.0000.

*83 0000000000000 00000000000000000000000000000000000000000000000000
g0oooooooOoOoOoO0oooooOoO0oO0OO0OO0OO0OO0O0boOooOoOO
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